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Instructions: e

(1) Attempt all question. :

(2) Right figure indicates full marks.

(3) Assume required data if necessary. 4
Section ~ I

Q.1 Answer the following question. [12]

. [A]l  What are the function and scope of the POM?
IB]  The past data on the load on the machines is shown below

[ Month | Load (HRS) [ Monfagp! Load (HRS) |
(= | May-12 - Sep-12 50
Jupe-12 580 Oc 855
| July-12 605 No¥-1 975
| Aug-12 670
1. Compute the load on the machir using Sth moving average for
the month of December 2012.
2. Compute a weighted three month ing average for December, 2012
where the weights are 0.5 testmonth, 0.3 and 0.2 for the other

months respectively.

Q.1  Answer the following que [12]
[A]  The quarterly saleflf s are given below. Using time series

analysis method calclliates th erly sales of 4" year.
" Ye uarter Units Sales (x 10%
I 22
33
40
31
28
34
52
32
35
46
: 57
L 4 | 46 ]
list" various methods of sales forecasting and explain moving average
ds.

e ISA Rl I S PR G 3 JSE N S (PEY NG P




Q.2 Answer the following question.

[A] A travelling salesman has to visit five cities. He wishes to
particular city, visit each city once and then return to
travelling cost (in 1000 Rs.) of each city from a particular city is

start from a
his starting point.

below:
To City
e B o D
A -~ 2 ) %
Igft;“ B 6 . 3 29
8 8 i - &
D 12 4 6 = 5.
E 1 3 2 -
What should be the sequence of visit of the sales the cost is
minimum?

{B] What are the benefits of Just in time (JIT) a ch? Enlist various elements
of JIT. - L 4
OR

Q.2 Answer the following question.
{A] A department of company has five
performed. The time (in hours) tha
given in the effectiveness matrix.

oye

with five jobs to be
es to perform each job is

loyees
5 L I1L. Iv. V.
13 15 6
18 13 6
Jobs 2 2 2
11 9 7 12
9 10 4 12

[B] Explain &e 0

Q.3  Attempt any three.
[A] Write gs short note on aggregate planning.
[B] Explai

[Dj : short note on Group Technology.

d, one per employee, so as to minimize the

[11]

(11]

2]



Section — I1

Q.4 Answer the following question. 112]
[A] Anp established decided to add a new product to its line. It will buy
product from manufacturing concern, package it, and sell it to a numbeffof
distributors that have been selected on geographical basis. The %mp

in the following table is to be planned.
Activity | Description Predecessors | Duration (BN
A Organize sales office e 6
B Hire salesmen A J
C Train B 7 .
13 Select advertising company A 2
£ Plan campaign D Sy
F Conduct campaign E 9
G Design packages == s
H Setup packaging facilities G 0
! Packaging initial stocks y SR 6
e i Order stock 13

K | Select distributors 9
L Sell to distributors 3
M | Ship stocks to distributors 5 |

1. Find the critical path.
2. For each non-critical activity, fi

time required in performing the
e order ABC. Processing times (in

B] Find the sequence that minimizes
foliowing jobs on three machifies 1
hours) are given in below ta

___Job 2 3 4. .23
Ma : 10 6 s s |
 Maghi 6 2 St s
Mac, 4 9 8 6l o3

OR
W Q.4 Answer the fcllvin {12]
{A] Job each of Wt be processed on the machine M1, M2, ... M6. The
processing time M. are given in table:
Processing times

I8 Vi TR V3 | Mz S T
A
B
C
D

20 7 6 3 9 24
18 3 8 s Y 18
6
6

13 6 7 4
22 5 3 4
: (1) Optimal Sequence. (ii) Minimum total elapsed time. (iii) Idle times
ssO@tated with machines.

ie a difference between PERT & CPM.




Q.5 Answer the following question. - [11]
[A] A company manufactures 30 items per day. The sale of these items depends
upon demand which has the following distribution: .

Sales(units) 59 28 ,* 2930 81w 33

Probability 0.10 |0.15 I 0.20 | 0.35 | 0.15 [ 0.05

The production cost and sale price of each unit are Rs. 40 S.
respectively, any unsold product is to be disposed of at a loss of Rs, r
unit. There is a penalty of Rs. 5 per unit if the demand is not met.

Using the following random numbers estimate total pr ss fodythe
company for the next 10 days: 10, 99, 65, 99, 95, 01, 79, 116, 20.
e

If the company decides to produce 29 items per day, what antage
or disadvantage to the company?
[B] With the help of sketch explain the components of qugui
OR
Q.5 Answer the following question. s [11]
[A] In a railway marshaling yard, goods trains at a @ of 30 trains per -
day. Assuming that the inter arrival time fo nential distribution
and the service time (the time taken to in) distribution is also
exponential with an average of 36 minute :

1. Expected queue size (line le

2. Probability that the queue si
[B] Define simulation and explain typ

Q.6 Attempt any three. %
tio

[Al Rules for AOA netwof® constriig
[B] What is Managex TBystem (MIS)? Also state the scope of
MIS in the area urt

ndustries.
[{C] Explain the MRP ss different inputs and outputs of MRP.

IB]  Explain the various terr ociated with line balancing.
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